Ao Sen
1% el 5713,

=g,

e
-

-

ul

‘_._mo
~
o

ke

ul

N

o]

o

M
wA .
W

AL
N 9
© 2 ‘_._mo
BN
mo =3 Am
E._ oM e
o [\
T 0 ny
T < o
E.:._ &S UE
o S olJ
PO
o| = o1
T ol T =
T B
o) o) I- O
T T
TN o BT
mul =g




o




3.

g Yo, AEe RE W A7) FoiA e

XSolo

Bzt g e Me| olrt B 23, 240] A7|E BE 2L =Y
0|22 7}, o}, mholet.




A F3HA L,

=29 SR =Yoo,




ol

ol

,_._m.o

2 180° YT} o= =

)

Zreg o] A Z+o]
Tl

A}
™

5.

A 2.

S

=AUz

(1) 274
(2) 371

(3) 540°

iy

T

o0
W
ol F
dnm Il
S o
X
N o) &
oy 00
q__o —
A o1 o)
TN TR
m M ar
= o N
= N m
mmo.xxﬂdﬂ
ﬂ_lmmoﬂ_v
BN
o) KB W
B X B
NN
of g of

B Q7+ §F ZFo] 971 540° + 5 = 108° YUt}




SHA] 2.

Q17 7

12cm

132 +11 =12cm




72°

L
o

gt Zte] 3717F180° - 72° = 108° | B2
108° x 5 = 540° o]t}




8. o AenglA 26, 0, @9 2719 H& FaAe.

ezt o] o Wzte] 7]
180°x 3+ 5 = 108°

Z+ @ = (180° - 108°) + 2 = 36°
Z+© =180°—-36°x2 = 108°
Zt® = (180°-6) +2=T2°
wh2bA] 36° 4 108° 4 72° = 216°




T 2070

.l

&0

A A

20 (7H)

8% (8-3)+2




2.

S

oA izl g

o A
= T

oA

AAU7E?

(1) 371

)97

37H)

jul

(2) 3x 6 = 18(7H)

(4)18 +2 =9(7H)




O
N

T

® 34

e
N

AL
b

!

)




12.

of jzbilet 9 A o Be] T,

14 -2 = 12(71) 44Utk

47190 AL 1470011, A7 o] A

2+ o] AL 2 ol nE




